## Bikeways Improvement Project List

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
McCray Rd.	Cloverdale	4	5	Class II, Shoulders	Cloverdale River Park	N. Cloverdale Blvd.	0.55	\$ 750,000	\$ 410,000	Roadway must be widened and additional right-of-way acquired.
North Cloverdale Blvd.	Cloverdale	4	106	Class II	McCray Rd.	State Hwy. 128	0.99	\$ 25,000	\$ 25,000	Signs and striping only
SMART Rail Trail	Cloverdale	4	88A	Class I	Cloverdale City Limits	McCray Rd.	0.36	\$ 400,000	\$ 142,000	Principal north / south route connecting cities along the Highway 101 corridor. Regional Network.
SMART Rail Trail	Cloverdale and Healdsburg	4	88B	Class I	Healdsburg City Limits	Cloverdale City Limits	13.20	\$ 400,000	\$5,282,000	Principal north / south route connecting cities along the Highway 101 corridor. Regional Network.
Bodega Bay Trail	Coast	5	197E	Class I	Eastshore Rd.	Taylor St.	0.20	\$7,605,000	\$1,521,000	Cost estimate from Bodega Bay Trails Plan feasibility study. Bodega Bay Trail segments 3A, and 3B-1.
Bodega Bay Trail	Coast	5	197B	Class I	Harbor View Dr.	State Hwy. 1	0.65	\$ 400,000	\$ 259,000	Switch-back section recommended by the Harbor View feasibility study. Bodega Bay Trail segment 3C-2
Bodega Bay Trail	Coast	5	197F	Class I	Keefe Ave.	Bay Flat Rd.	1.43	\$ 400,000	\$ 572,000	Bodega Bay Trail segments 1B, 1C, and 2B
Bodega Bay Trail	Coast	5	197G	Class I	Bay Flat Rd.	Smith Bros. Rd.	0.92	\$2,228,000	\$2,050,000	Cost estimate from Bodega Bay Trails Plan feasibility study. Bodega Bay Trail segments 3D-1 and 3D-2.
Bodega Bay Trail	Coast	5	197C	Class I	Lucas Warf/Smith Bros. Rd.	Doran Beach Rd.	0.66	\$ 400,000	\$ 266,000	Bodega Bay Trail segments 5B, 6B, and 6C.
Gualala River Bridge Trail	Coast	4	204	Class I	Mendo. Co. Line	Mendo. Co. Line	0.30	\$ 400,000	\$ 119,000	Provides connection to Mendocino County via Class I across the Highway 1 Gualala River Bridge.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
State Hwy. 1	Coast	5	4E	Class II	Slaughter House Rd.	Doran Beach Rd.	7.23	\$ 25,000	\$ 181,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
State Hwy. 1	Coast	5	4F	Class II, Shoulders	Valley Ford Rd.	Slaughter House Rd.	1.49	\$ 750,000	\$1,119,000	Roadway must be widened and additional right-of-way acquired.
State Hwy. 1	Coast	5	4D	Class II, Shoulders	Doran Beach Rd.	State Hwy. 116	11.04	\$ 750,000	\$8,278,000	Roadway must be widened and additional right-of-way acquired.
Dry Creek Rd.	Healdsburg	4	12	Class II, Shoulders	Healdsburg City Limits	Skaggs Springs Rd.	10.07	\$ 750,000	\$7,552,000	Roadway must be widened and additional right-of-way acquired.
Healdsburg Ave. / Lytton Springs Rd.	Healdsburg	4	11	Class II, Shoulders	Healdsburg City Limits	Geyserville Ave.	1.16	\$ 750,000	\$ 868,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
State Hwy. 128	Healdsburg	4	100B	Class II, Shoulders	Geyserville Ave.	Chalk Hill Rd.	9.93	\$ 750,000	\$7,448,000	Roadway must be widened and additional right-of-way acquired.
Westside Rd.	Healdsburg	4, 5	15	Class III	Healdsburg City Limits	River Rd.	12.33	\$ 5,000	\$ 62,000	Signs and striping only.
Adobe Rd.	Petaluma	2	72A	Class II	Lynch Rd.	State Hwy. 116	3.26	\$ 25,000	\$ 81,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Adobe Rd.	Petaluma	2	72B	Class II, Shoulders	Old Redwood Hwy.	Lynch Rd.	2.99	\$ 750,000	\$2,242,000	Roadway must be widened and additional right-of-way acquired.
Corona Rd.	Petaluma	2	78	Class II, Shoulders	Adobe Rd.	Petaluma City Limits	0.74	\$ 750,000	\$ 554,000	Roadway must be widened and additional right-of-way acquired.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
East Washington St.	Petaluma	2	75	Class II, Shoulders	Adobe Rd.	Petaluma City Limits	0.24	\$ 750,000	\$ 182,000	Roadway must be widened and additional right-of-way acquired.
Pepper Rd.	Petaluma	2	175	Class II, Shoulders	Meacham Rd.	Stony Point Rd.	3.29	\$ 400,000	\$2,465,000	Roadway must be widened and additional right-of-way acquired along portion of route. Cost per mile reduced to \$400K.
Petaluma - Novato Trail	Petaluma	2	202	Class I and Class II	Petaluma City Limits	Marin Co. Line	2.91	\$ 400,000	\$1,165,000	Alternative to SMART trail south of Petaluma proposed as part of Highway 101 Novato Narrows project.
Petaluma Blvd. South	Petaluma	2	77	Class II, Shoulders	Petaluma City Limits	Hwy. 101 Interchange	0.93	\$ 750,000	\$ 701,000	Roadway must be widened and additional right-of-way acquired.
Roblar Rd.	Petaluma	2	79	Class II, Shoulders	Valley Ford Rd.	Stony Point Rd.	6.50	\$ 750,000	\$4,872,000	Roadway must be widened and additional right-of-way acquired.
SMART Rail Trail	Petaluma	2	88G	Class I	Marin Co. Line	Petaluma City Limits	3.67	\$ 400,000	\$1,470,000	Principal north / south connection between Sonoma and Marin counties. Regional Network.
Sonoma County Bay Trail	Petaluma	2	206F	Class I	State Hwy. 121	Port Sonoma	4.61	\$ 400,000	\$1,845,000	Sears Point Trail. Segments I and II of the Bay Trail.
Sonoma County Bay Trail	Petaluma	2	206D	Class I	SMART Right-of-Way	Marin Co. Line	0.49	\$ 400,000	\$ 196,000	Port Sonoma Trail. Segment I of the Bay Trail.
State Hwy. 116 South	Petaluma	1, 2	2B	Class II, Shoulders	Lakeville Hwy.	Arnold Dr.	5.56	\$ 750,000	\$4,171,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
Valley Ford Rd.	Petaluma	2, 5	174	Class II	State Hwy. 1	Bodega Ave. (Petaluma)	10.39	\$ 25,000	\$ 260,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
SMART Rail Trail	Petaluma and Rohnert Park/Cotati	2	88F	Class I	Petaluma City Limits	Cotati City Limits	2.91	\$ 400,000	\$1,163,000	Principal north / south route connecting cities along the Highway 101 corridor. Regional Network.
State Hwy. 37	Petaluma and Sonoma Valley	1, 2	102	Class II	Napa Co. Line	Marin Co. Line	6.42	\$ 25,000	\$ 161,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
Copeland Creek Trail	Rohnert Park/Cotati	2, 3	191	Class I	Rohnert Park City Limits	Crane Creek Reg. Park	1.81	\$ 400,000	\$ 722,000	Connects Sonoma State University to Crane Creek Regional Park.
East Cotati Ave.	Rohnert Park/Cotati	3	147	Class II	Rohnert Park City Limits	Petaluma Hill Rd.	0.51	\$ 25,000	\$ 13,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Mountain View Ave.	Rohnert Park/Cotati	3	53A	Class II, Shoulders	Hunter Lane	Snyder Lane	0.50	\$ 750,000	\$ 374,000	Roadway must be widened and additional right-of-way acquired.
State Hwy. 116 North	Rohnert Park/Cotati	2	11	Class II	Cotati City Limits	Stony Point Rd.	0.65	\$ 25,000	\$ 16,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
SMART Rail Trail	Rohnert Park/Cotati and Santa Rosa	5	88E	Class I	Rohnert Park City Limits	Santa Rosa City Limits	2.24	\$ 400,000	\$ 897,000	Principal north / south route connecting cities along the Highway 101 corridor. Regional Network.
State Hwy. 116 North	Rohnert Park/Cotati and Sebastopol	2	1H	Class II, Shoulders	Stony Point Rd.	Gilchrist Rd.	1.18	\$ 750,000	\$ 883,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
Main St.	Rohnert Park/Cotati Area	2	141	Class III	Adobe Road	Old Redwood Hwy.	0.48	\$ 5,000	\$ 2,000	Signs and striping only. Part of Penngrove Main Street Design Guidelines. Regional Network.
Old Redwood Hwy.	Rohnert Park/Cotati Area	2	52	Class II	Cotati City Limits	Petaluma City Limits	3.26	\$ 25,000	\$ 82,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Petaluma Hill Rd.	Rohnert Park/Cotati Area	2, 3	51	Class II	Santa Rosa City Limits	Adobe Road	8.31	\$ 25,000	\$ 208,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
Mirabel Rd.	Russian River	5	38B	Class II	Lois Lane	Trenton Rd.	0.28	\$ 25,000	\$ 7,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Mirabel Rd.	Russian River	5	38A	Class II, Shoulders	State Hwy. 116	Lois Lane	0.87	\$ 750,000	\$ 651,000	Roadway must be widened and additional right-of-way acquired.
Mirabel Rd.	Russian River	5	38C	Class II, Shoulders	Trenton Rd.	River Rd.	0.22	\$ 750,000	\$ 165,000	Roadway must be widened and additional right-of-way acquired.
Occidental Rd.	Russian River	5	42	Class II	Atascadero Creek	Sanford Rd.	2.20	\$ 25,000	\$ 55,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Occidental Rd.	Russian River	5	42	Class II, Shoulders	Sanford Rd.	Santa Rosa City Limits	3.06	\$ 750,000	\$2,293,000	Roadway must be widened and additional right-of-way acquired.
River Rd.	Russian River	4, 5	37	Class II	State Hwy. 101	Scenic / Martinelli Rd.	9.84	\$ 25,000	\$ 246,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
River Rd.	Russian River	5	37	Class II	Westside Rd.	State Hwy. 116	5.28	\$ 25,000	\$ 132,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
River Rd.	Russian River	5	37	Class II, Shoulders	Scenic/Marti nelli Rd.	Westside Rd.	0.93	\$ 750,000	\$ 699,000	Roadway must be widened and additional right-of-way acquired.
Russian River Trail	Russian River	4,5	208	Class I	Healdsburg City Limits	Monte Rio Bridge	22.86	\$ 400,000	\$9,145,000	Regional Class 1 along the middle and lower reach of the Russian River.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
State Hwy. 116 North	Russian River	5	1E	Class II, Shoulders	Green Valley Rd.	Armstrong Woods Rd.	9.67	\$ 750,000	\$7,250,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
State Hwy. 116 North	Russian River	5	1D	Class II	Armstrong Woods Rd.	Foothill Dr.	4.63	\$ 25,000	\$ 116,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
State Hwy. 116 North	Russian River	5	1B	Class II	Duncan Rd.	Moscow Rd.	2.90	\$ 25,000	\$ 72,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
State Hwy. 116 North	Russian River	5	1C	Class II, Shoulders	Foothill Dr.	Duncan Rd.	0.59	\$ 750,000	\$ 444,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
State Hwy. 116 North	Russian River	5	1A	Class II, Shoulders	Moscow Rd.	State Hwy. 1	3.71	\$ 750,000	\$2,784,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
West County Trail Extension	Russian River	5	84	Class I	Pajaro Lane	Forestville Youth Park	0.67	\$ 400,000	\$ 267,000	Connects downtown Forestville with Forestville Youth Park.
Airport Boulevard / Highway 101 Interchange	Santa Rosa	4	24	Class II	S. Hwy. 101 overpass	N. Hwy. 101 overpass	0.30	\$ 25,000	\$ 7,000	Bike lanes part of new and/or improved Airport Boulevard interchange. Regional Network.
Burbank Ave.	Santa Rosa	5	115	Class II, Shoulders	Sebastopol Rd.	Hearn Ave.	1.00	\$ 750,000	\$ 752,000	Signs and striping only.
Colgan Creek Trail Extension East	Santa Rosa	3	211	Class I	Santa Rosa City Limits	Taylor Mtn. Regional Park	0.24	\$400,000	\$96,000	Connection between Santa Rosa and Taylor Mountain Regional Park.
Colgan Creek Trail Extension West	Santa Rosa	5	86	Class I	Todd Rd.	Laguna de S.R. Trail	1.79	\$ 400,000	\$ 717,000	Connects SMART Class I bikeway to Laguna de Santa Rosa Trail along SCWA flood control channel.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Fulton Rd.	Santa Rosa	4	28	Class II	S. Hwy. 101 overpass	N. Hwy. 101 overpass	0.27	\$ 25,000	\$ 7,000	Bike lanes part of new and/or improved Fulton Road interchange.
Guerneville Rd.	Santa Rosa	4, 5	22	Class II	Santa Rosa City Limits	State Hwy. 116	5.33	\$ 25,000	\$ 133,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Hall Rd.	Santa Rosa	5	26	Class II	Willowside Rd.	Santa Rosa City Limits	1.69	\$ 25,000	\$ 42,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Hall Rd.	Santa Rosa	5	26	Class II, Shoulders	Sanford Rd.	Willowside Rd.	1.01	\$ 750,000	\$ 759,000	Roadway must be widened and additional right-of-way acquired.
Laguna de Santa Rosa Trail	Santa Rosa	5	91C	Class I	Todd Rd.	Joe Rodota Trail	2.18	\$ 400,000	\$ 871,000	Segments P23, P29, P30, P31, and P34 of the Laguna de Santa Rosa Trail aligned southwest of Llano Road.
Ludwig Ave.	Santa Rosa	5	113	Class II, Shoulders	Llano Rd.	Stony Point Rd.	1.45	\$ 750,000	\$1,084,000	Roadway must be widened and additional right-of-way acquired.
Old Redwood Hwy.	Santa Rosa	4	20	Class II	Santa Rosa City Limits	Windsor City Limits	3.83	\$ 25,000	\$ 96,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
Piner Creek Trail	Santa Rosa	4, 5	189	Class I	Santa Rosa City Limits	Santa Rosa Creek Trail	0.16	\$ 400,000	\$ 65,000	Gap closure of Santa Rosa's Piner Creek Trail along SCWA flood control channel.
Roseland Creek Trail	Santa Rosa	5	87	Class I	Santa Rosa City Limits	Laguna de S.R. Trail	1.41	\$ 400,000	\$ 563,000	Connection between Ludwig Road and Laguna de Santa Rosa Trail along SCWA flood control channel.
Sanford Rd.	Santa Rosa	5	26	Class II, Shoulders	Occidental Rd.	Hall Rd.	0.88	\$ 750,000	\$ 663,000	Roadway must be widened and additional right-of-way acquired. Laguna de Santa Rosa Trail segment P66.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Santa Rosa Creek / Joe Rodota Trail Connector	Santa Rosa	5	182	Class I	Santa Rosa Creek Trail	Joe Rodota Trail	1.80	\$ 400,000	\$ 720,000	Connects Joe Rodota and Santa Rosa Creek trail west of Fulton Road. Class I alternative to Fulton Road.
Santa Rosa Creek Trail Extension	Santa Rosa	5	89	Class I	Santa Rosa City Limits	Guerneville Rd.	3.30	\$ 400,000	\$1,322,000	Connects Prince Memorial Greenway to Forestville / Graton area.
South Wright Rd.	Santa Rosa	5	25	Class II, Shoulders	Santa Rosa City Limits	Ludwig Ave.	1.39	\$ 750,000	\$1,040,000	Roadway must be widened and additional right-of-way acquired.
State Hwy. 12	Santa Rosa	1	ЗА	Class II	Santa Rosa City Limits	Kunde Winery Rd.	2.52	\$ 25,000	\$ 63,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
Stony Point Rd.	Santa Rosa	2, 5	21	Class II	Santa Rosa City Limits	Petaluma City Limits	10.11	\$ 25,000	\$ 253,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
Todd Rd.	Santa Rosa	5	23	Class II, Shoulders	Santa Rosa Ave.	State Hwy. 116	5.02	\$ 750,000	\$3,768,000	Roadway must be widened and additional right-of-way acquired.
SMART Rail Trail	Santa Rosa and Windsor	4	88D	Class I	Santa Rosa City Limits	Windsor Town Limits	2.97	\$ 400,000	\$1,189,000	Principal north / south route connecting cities along the Highway 101 corridor. Regional Network.
Bodega Hwy.	Sebastopol	5	45	Class II, Shoulders	Sebastopol City Limits	Jonive Rd.	3.46	\$ 750,000	\$2,598,000	Roadway must be widened and additional right-of-way acquired.
Bodega Hwy.	Sebastopol	5	45	Class II, Shoulders	Bohemian Hwy.	Valley Ford - Freestone Rd.	1.30	\$ 750,000	\$ 976,000	Roadway must be widened and additional right-of-way acquired.
Graton Rd.	Sebastopol	5	43A	Class II, Shoulders	Dyer Avenue	State Hwy. 116	1.03	\$ 750,000	\$ 771,000	Roadway must be widened and additional right-of-way acquired. Regional Network.

Priority 1 Pro	njecis (riigii)	Super-								
Route Segments	Project Area	visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
High School Rd.	Sebastopol	5	46	Class II	Sebastopol City Limits	Occidental Rd.	1.26	\$ 25,000	\$ 32,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Laguna de Santa Rosa Trail	Sebastopol	5	91E	Class I	Occidental Rd.	Sanford Rd.	0.72	\$ 400,000	\$ 287,000	Segments P60, P62, and P63 of the Laguna de Santa Rosa Trail along SCWA easements.
Laguna de Santa Rosa Trail	Sebastopol	5	91D	Class I	State Hwy. 12	Occidental Rd.	1.36	\$ 400,000	\$ 543,000	Segments P43, P45, and P46 of the Laguna de Santa Rosa Trail along SCWA easements.
Laguna de Santa Rosa Trail	Sebastopol	5	91F	Class I	Hall Rd.	Santa Rosa Creek Trail	1.26	\$ 400,000	\$ 505,000	Segments P68 and P70 of the Laguna de Santa Rosa Trail along a SCWA flood control channel.
Mill Station Rd.	Sebastopol	5	138	Class II	Ragle Rd.	State Hwy. 116	0.26	\$ 25,000	\$ 7,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Pleasant Hill Rd.	Sebastopol	5	48	Class II, Shoulders	Bloomfield Rd.	Elphick Rd.	2.16	\$ 750,000	\$1,617,000	Roadway must be widened and additional right-of-way acquired.
Ragle Rd.	Sebastopol	5	137	Class II, Shoulders	Sebastopol City Limits	Mill Station Rd.	0.41	\$ 750,000	\$ 309,000	Roadway must be widened and additional right-of-way acquired.
State Hwy. 116 North	Sebastopol	5	1F	Class II	Sebastopol City Limits	Green Valley Rd.	2.78	\$ 25,000	\$ 69,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
State Hwy. 116 North	Sebastopol	5	1G	Class II, Shoulders	Gilchrist Rd.	Sebastopol City Limits	4.53	\$ 750,000	\$3,394,000	Roadway must be widened and additional right-of-way acquired.
Water Trough Rd.	Sebastopol	5	48	Class II, Shoulders	Elphick Rd.	Bodega Hwy.	1.71	\$ 750,000	\$1,279,000	Roadway must be widened and additional right-of-way acquired.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Academy Lane	Sonoma Valley	1	164	Class III	Fairview Lane	Melody Lane	0.01	\$ 36,122	\$ 1,000	Central Sonoma Valley Bikeway Project segment 1.
Agua Caliente Rd.	Sonoma Valley	1	173	Class II, Shoulders	Arnold Dr.	State Hwy. 12	0.83	\$ 750,000	\$ 626,000	Roadway must be widened and additional right-of-way acquired. Central Sonoma Valley Bikeway Project segment 5.
Arnold Dr.	Sonoma Valley	1	60A	Class II	Gibson St.	State Hwy. 12	0.47	\$ 25,000	\$ 12,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Arnold Dr.	Sonoma Valley	1	60D	Class II	State Hwy. 116	Petaluma Ave.	2.85	\$ 25,000	\$ 71,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network
Arnold Dr.	Sonoma Valley	1	60C	Class II, Shoulders	Country Club Dr.	Chauvet Rd.	3.47	\$ 750,000	\$2,600,000	Roadway must be widened and additional right-of-way acquired. Regional Network
Arnold Dr.	Sonoma Valley	1	60B	Class III	Chauvet Rd.	Gibson St.	0.80	\$ 5,000	\$ 4,000	Signs and striping only.
Bennett Valley Rd.	Sonoma Valley	1	66A	Class II, Shoulders	Santa Rosa City Limits	Grange Rd.	2.08	\$ 750,000	\$1,560,000	Roadway must be widened and additional right-of-way acquired.
Cedar Ave.	Sonoma Valley	1	172	Class III	Vailetti Dr.	Agua Caliente Rd.	0.20	\$ 5,000	\$ 1,000	Signs and striping only. Central Sonoma Valley segment V.
Central Sonoma Valley Bikeway	Sonoma Valley	1	90	Class I	Main St.	Encinas Lane	0.10	\$ 400,000	\$ 38,000	Portion of Central Sonoma Valley Bikeway segment I.
Central Sonoma Valley Bikeway	Sonoma Valley	1	90	Class I	Encinas Lane	Fairview Lane	0.01	\$ 400,000	\$ 6,000	Portion of Central Sonoma Valley Bikeway segment I.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Central Sonoma Valley Bikeway	Sonoma Valley	1	90	Class I	Melody Lane	Happy Lane	0.10	\$ 400,000	\$ 38,000	Central Sonoma Valley Bikeway segment II.
Central Sonoma Valley Bikeway	Sonoma Valley	1	90	Class I	Happy Lane Dead End	Orchard Ave.	0.05	\$ 400,000	\$ 21,000	Central Sonoma Valley Bikeway segment III.
Central Sonoma Valley Bikeway	Sonoma Valley	1	90	Class I	Larson Park Entrance	Depot Rd.	0.28	\$ 400,000	\$ 111,000	Portion of Central Sonoma Valley Bikeway segment V.
Central Sonoma Valley Bikeway	Sonoma Valley	1	90	Class I	Depot Rd.	Vailetti Dr.	0.15	\$ 400,000	\$ 59,000	Portion of Central Sonoma Valley Bikeway segment V.
Central Sonoma Valley Trail	Sonoma Valley	1	183	Class I	Agua Caliente Rd.	Melita Rd.	12.64	\$ 400,000	\$5,056,000	Provides Class I alternative to Hwy 12 between Sonoma and Santa Rosa. Regional Network.
Dechene Ave.	Sonoma Valley	1	170	Class III	Lichtenberg Ave.	Larson Park Entrance	0.24	\$ 5,000	\$ 1,000	Signs and striping only. Central Sonoma Valley Bikeway segment IV.
El Verano / Main St.	Sonoma Valley	1	161	Class III	Verano Ave.	State Hwy. 12	0.11	\$ N/A	\$ 1,000	Signs and striping only. Connects Central Sonoma Valley Bikeway segment I.
Encinas Lane	Sonoma Valley	1	162	Class III	State Hwy. 12	Encinas Ln. Dead End	0.07	\$ N/A	\$ 1,000	Signs and striping only. Connects Central Sonoma Valley Bikeway segment I.
Fairview Lane	Sonoma Valley	1	163	Class III	Encinas Ln. Dead End	Academy Lane	0.09	\$ N/A	\$ 1,000	Signs and striping only. Connects Central Sonoma Valley Bikeway segment I.
Greger St.	Sonoma Valley	1	168	Class III	Orchard Ave.	Lichtenberg Ave.	0.32	\$ 5,000	\$ 2,000	Signs and striping only. Central Sonoma Valley Bikeway segments III and IV.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Happy Lane	Sonoma Valley	1	166	Class III	W. Thompson Ave.	Happy Ln. Dead End	0.24	\$ 5,000	\$ 1,000	Signs and striping only. Central Sonoma Valley Bikeway segment III.
Leveroni Rd. / Napa Rd.	Sonoma Valley	1	62	Class II	Arnold Dr.	State Hwy. 12	6.05	\$ 25,000	\$ 151,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Lichtenberg Ave.	Sonoma Valley	1	169	Class III	Greger St.	Dechene Ave.	0.05	\$ N/A	\$ 1,000	Signs and striping only. Central Sonoma Valley segment IV.
Melody Lane	Sonoma Valley	1	165	Class III	Academy Lane	W. Thompson Ave.	0.19	\$ 5,000	\$ 1,000	Signs and striping only. Central Sonoma Valley Bikeway segment II.
Orchard Ave.	Sonoma Valley	1	167	Class III	Happy Ln. Dead End	Greger St.	0.10	\$ N/A	\$ 1,000	Signs and striping only. Central Sonoma Valley Bikeway segment III.
Petaluma Ave.	Sonoma Valley	1	61	Class II, Shoulders	Arnold Dr.	Riverside Dr.	0.62	\$ 750,000	\$ 465,000	Roadway must be widened and additional right-of-way acquired.
Railroad Ave.	Sonoma Valley	1	63	Class II	Verano Ave.	Boyes Blvd.	0.77	\$ 25,000	\$ 19,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Sonoma / Schellville Trail	Sonoma Valley	1	83	Class I	Sonoma City Limits	Dale Ave.	4.79	\$ 400,000	\$1,915,000	Segment VII and a portion of Segment VI of the Sonoma County Bay Trail. Regional Network.
Sonoma County Bay Trail	Sonoma Valley	2	206E	Class I	Sonoma Creek	State Hwy. 121	8.55	\$ 400,000	\$3,419,000	Tolay Creek Trail. Segment II of the Bay Trail. Connects to Project 206C through Napa & Solano counties. Regional Network.
Sonoma County Bay Trail	Sonoma Valley	2	206C	Class I	Hudeman Slough	Napa Co. Line	3.91	\$ 400,000	\$1,566,000	Skaggs Island Road Trail. Segment IV and a portion of Segment V of the Bay Trail. Regional Network.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Sonoma County Bay Trail	Sonoma Valley	2	206B	Class I	Ramal Rd.	Skaggs Island Rd.	2.10	\$ 400,000	\$ 841,000	Hudeman Slough Trail. Segment V of the Bay Trail. Regional Network.
Sonoma County Bay Trail	Sonoma Valley	1	206A	Class I	Dale Ave.	Napa Co. Line	4.02	\$ 400,000	\$1,610,000	Ramal Road Trail. A portion of Segment VI of the Bay Trail. Regional Network.
State Hwy. 116 South	Sonoma Valley	1	2A	Class II	Arnold Dr.	State Hwy. 121	1.60	\$ 25,000	\$ 40,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
State Hwy. 12	Sonoma Valley	1	3C	Class II	Agua Caliente Rd.	Sonoma City Limits	1.74	\$ 25,000	\$ 43,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
State Hwy. 12	Sonoma Valley	1	3В	Class II, Shoulders	Kunde Winery Rd.	Agua Caliente Rd.	6.93	\$ 750,000	\$5,194,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
State Hwy. 121	Sonoma Valley	1	101B	Class II, Shoulders	Bisso Rd.	Napa Rd.	7.45	\$ 750,000	\$5,585,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
Vailetti Dr.	Sonoma Valley	1	171	Class III	Agua Caliente Rd.	Cedar Ave.	0.46	\$ 5,000	\$ 2,000	Signs and striping only. Central Sonoma Valley Bikeway segment V.
Verano Ave.	Sonoma Valley	1	64	Class III	State Hwy. 12	5th St. West	0.28	\$ 5,000	\$ 1,000	Signs and striping only. Regional Network.
Warm Springs Rd.	Sonoma Valley	1	68A	Class II, Shoulders	Bennett Valley Rd.	Arnold Dr.	2.40	\$ 750,000	\$1,799,000	Roadway must be widened and additional right-of-way acquired.
Mark West Creek Trail	Windsor	4	98	Class I	Old Redwood Hwy.	SMART Railroad Trail	1.39	\$ 400,000	\$ 555,000	Connects Old Redwood Highway with SMART Bikeway near Airport Industrial Area.

## 2010 Sonoma County Bicycle and Pedestrian Plan

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Skylane Blvd.	Windsor	4	108	Class II	Airport Blvd.	Windsor Town Limits	0.52	\$ 25,000	\$ 13,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
SMART Rail Trail	Windsor and Healdsburg	4	88C	Class I	Windsor Town Limits	Healdsburg City Limits	2.05	\$ 400,000	\$ 821,000	Principal north / south route connecting cities along the Highway 101 corridor. Regional Network.
Larkfield / Wikiup Trail	Windsor and Santa Rosa	4	210	Class I	Windsor Town Limit	Santa Rosa City Limits	3.83	\$400,000	\$1,540,000	Provides Class I alternative to Old Redwood Hwy between Windsor, Larkfield / Wikiup, and Santa Rosa. Regional Network.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Canyon Rd.	Cloverdale	4	103	Class II	Geyserville Ave.	Dry Creek Rd.	2.25	\$ 25,000	\$ 56,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Cloverdale / Lake Sonoma Trail	Cloverdale	4	203	Class I	Cloverdale City Limits	Lake Sonoma	5.08	\$ 400,000	\$2,034,000	Class I connection between Cloverdale adjacent to Dutcher Creek Road.
Crocker Rd.	Cloverdale	4	6	Class II	Cloverdale City Limits	River Rd.	0.68	\$ 25,000	\$ 17,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Dutcher Creek Rd.	Cloverdale	4	8	Class II	Cloverdale City Limits	Dry Creek Rd.	5.27	\$ 25,000	\$ 132,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Geyserville Ave. / Asti Rd.	Cloverdale	4	7B	Class II	Canyon Rd.	Weidersheim Rd.	3.72	\$ 25,000	\$ 93,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
Geyserville Ave. / Asti Rd.	Cloverdale	4	7C	Class II, Shoulders	Lytton Springs Rd.	Canyon Rd.	5.02	\$ 750,000	\$3,765,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
Geyserville Ave. / Asti Rd.	Cloverdale	4	7A	Class II, Shoulders	Weidersheim Rd.	Airport Rd.	2.74	\$ 750,000	\$2,056,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
State Hwy. 128	Cloverdale	4	100C	Class II, Shoulders	N. Cloverdale Blvd.	Mendo. Co. Line	4.43	\$ 750,000	\$3,323,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
Theresa Dr.	Cloverdale	4	104	Class II	Asti Rd.	Dutcher Creek Rd.	0.12	\$ 25,000	\$ 3,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Bean Ave. – Ocean View Ave.	Coast	5	128	Class III	Ocean View Ave.	Sonoma Coast State Beach	0.23	\$ 5,000	\$ 1,000	Signs and striping only. Bodega Bay Trail segment B.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Bodega Ave.	Coast	5	131	Class III	State Hwy. 1	Windy Lane	0.23	\$ 5,000	\$ 1,000	Signs and striping only. Bodega Bay Trail segment 3C-1
Bodega Bay Trail	Coast	5	197A	Class I	State Hwy. 1	Jetty Campground	1.78	\$ 400,000	\$ 713,000	Bodega Bay Trail segments I and J
Coleman Valley Rd.	Coast	5	122	Class III	State Hwy. 1	Bohemian Hwy.	9.54	\$ 5,000	\$ 48,000	Signs and striping only.
Harbor View Dr.	Coast	5	134	Class III	Bodega Ave.	State Hwy. 1	0.25	\$ 5,000	\$ 1,000	Signs and striping only. Bodega Bay Trail segment 3C-2
Keefe Ave.	Coast	5	130	Class III	Bodega Bay Trail (1B)	Ocean View Ave.	0.12	\$ 5,000	\$ 1,000	Signs and striping only. Bodega Bay Trail segment C. Connects Hwy 1 with segment 1B Class I.
Ocean View Ave.	Coast	5	129	Class III	Keefe Ave.	State Hwy. 1	0.12	\$ N/A	\$ 1,000	Connects segments B and C of the Bodega Bay Trail with Hwy 1.
Smith Brothers Rd.	Coast	5	135	Class III	State Hwy. 1	State Hwy. 1	0.30	\$ 5,000	\$ 2,000	Signs and striping only. Bodega Bay Trail segment 5B.
State Hwy. 1	Coast	5	4G	Class II	Marin Co. Line	Valley Ford Rd.	1.52	\$ 25,000	\$ 38,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
State Hwy. 1	Coast	5	4C	Class II, Shoulders, Class III	State Hwy. 116	Meyer's Grade Rd.	6.05	\$ 390,000	\$2,360,000	Class II in climbing lanes, Class III in descending lanes. Roadway must be widened and additional right-of-way acquired.
State Hwy. 1	Coast	5	4A	Class II, Shoulders, Class III	Kruse Ranch Rd.	Gualala River Bridge	15.47	\$ 390,000	\$6,034,000	Class II in climbing lanes, Class III in descending lanes. Roadway must be widened and additional right-of-way acquired.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
State Hwy. 1	Coast	5	4B	Class III	Meyer's Grade Rd.	Kruse Ranch Rd.	16.12	\$ 5,000	\$ 81,000	Signs and striping only.
Taylor St.	Coast	5	132	Class III	State Hwy. 1	Bodega Ave.	0.04	\$ N/A	\$ 1,000	Signs and striping only. Bodega Bay Trail segment 3C-1.
Windy Lane	Coast	5	133	Class III	State Hwy. 1	Bodega Ave.	0.06	\$ N/A	\$ 1,000	Signs and striping only. Bodega Bay Trail segment 3C-1.
Alexander Valley Rd.	Healdsburg	4	14	Class II, Shoulders	Healdsburg Ave.	State Hwy. 128	3.83	\$ 750,000	\$2,874,000	Roadway must be widened and additional right-of-way acquired.
Eastside Rd.	Healdsburg	4	13	Class II, Shoulders	Old Redwood Hwy.	Trenton- Healdsburg Rd.	5.18	\$ 750,000	\$3,884,000	Roadway must be widened and additional right-of-way acquired.
Eastside Rd.	Healdsburg	4	13	Class III	Trenton- Healdsburg Rd.	Wholer Rd.	1.15	\$ 5,000	\$ 6,000	Signs and striping only.
Kinley Dr.	Healdsburg	4	107	Class III	Westside Rd.	Dry Creek Rd.	1.45	\$ 5,000	\$ 7,000	Signs and striping only.
State Hwy. 128	Healdsburg	4	100A	Class II, Shoulders	Chalk Hill Rd.	Napa Co. Line	9.22	\$ 750,000	\$6,912,000	Roadway must be widened and additional right-of-way acquired.
Adobe Creek Trail	Petaluma	2	198	Class I	Petaluma City Limits	Adobe Rd.	0.69	\$ 400,000	\$ 274,000	Connects Adobe Rd. and Frates Rd. to City of Petaluma Class I network.
Casa Grande Rd.	Petaluma	2	76	Class II, Shoulders	Adobe Rd.	Petaluma City Limits	0.60	\$ 750,000	\$ 446,000	Roadway must be widened and additional right-of-way acquired.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Chileno Valley Rd.	Petaluma	2	178	Class III	Western Ave.	Marin Co. Line	3.52	\$ 5,000	\$ 18,000	Signs and striping only.
Ely Rd.	Petaluma	2	80	Class II	Old Redwood Hwy.	Petaluma City Limits	1.16	\$ 25,000	\$ 28,934	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Pepper Rd.	Petaluma	2	175	Class II, Shoulders	Bodega Ave. (Petaluma)	Meacham Rd.	2.59	\$ 750,000	\$1,942,000	Roadway must be widened and additional right-of-way acquired.
Petaluma Marsh Trail	Petaluma	2,5	200	Class I	Petaluma City Limits	Port Sonoma	11.05	\$ 400,000	\$4,420,000	Class I alternative route to Lakeville Highway Class II.
San Antonio Rd.	Petaluma	2	179	Class III	"D" Street	State Hwy. 101	3.64	\$ 5,000	\$ 18,000	Signs and striping only.
Tomales Rd.	Petaluma	2	177	Class III	Valley Ford Rd.	Marin Co. Line	1.93	\$ 5,000	\$ 10,000	Signs and striping only.
Laguna de Santa Rosa Trail	Rohnert Park / Cotati	2, 5	91A	Class I	Rohnert Park City Limits	Stony Point Rd.	0.57	\$ 400,000	\$ 227,000	Segment P10 of the Laguna de Santa Rosa Trail along a SCWA flood control channel.
Bellevue Creek Trail	Rohnert Park/Cotati	3, 5	195	Class I	Petaluma Hill Rd.	Stony Point Rd.	4.74	\$ 400,000	\$1,897,000	Provides Highway 101 undercrossing. Connects to Laguna de Santa Rosa Trail.
Bellevue Creek Trail Connector	Rohnert Park/Cotati	3	196	Class I	Bellevue Creek Trail	Rohnert Park City Limits	0.23	\$ 400,000	\$ 92,000	Connects Rohnert Park "F" section to Bellevue Creek Trail
Gossage Creek Trail	Rohnert Park/Cotati	5	190	Class I	Laguna de S.R. Trail	Derby Lane	1.04	\$ 400,000	\$ 416,000	Connection between Rohnert Park Expressway and Stony Point Rd / Hwy 116 intersection along SCWA easements.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Millbrae Ave.	Rohnert Park/Cotati	2	145	Class II, Shoulders	Rohnert Park City Limits	Stony Point Rd.	1.31	\$ 750,000	\$ 986,000	Roadway must be widened and additional right-of-way acquired.
Mountain View Ave.	Rohnert Park/Cotati	3	53B	Class III	Santa Rosa Ave.	Hunter Lane	1.00	\$ 5,000	\$ 5,000	Signs and striping only.
Derby Lane	Rohnert Park/Cotati Area	2	142	Class III	State Hwy. 116	Laguna de S.R. Trail	0.54	\$ 5,000	\$ 3,000	Signs and striping only.
West Sierra Ave.	Rohnert Park/Cotati Area	2	54	Class II, Shoulders	Cotati City Limits	Stony Point Rd.	1.25	\$ 750,000	\$ 938,000	Roadway must be widened and additional right-of-way acquired.
Armstrong Woods Rd.	Russian River	5	120	Class II	State Hwy. 116	State Park Entrance	1.84	\$ 25,000	\$ 46,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Dutch Bill Creek Trail	Russian River	5	96	Class I	State Hwy. 116	Graton Rd.	5.46	\$ 400,000	\$2,185,000	Class I along portions of North Pacific Coast Railroad right-of- way. Connects Occidental to Russian River Trail at Monte Rio.
Occidental Camp Meeker Rd.	Russian River	5	127	Class III	Morelli Lane	Bohemian Hwy.	1.26	\$ 5,000	\$ 6,000	Signs and striping only. Regional Network.
Wohler Rd.	Russian River	4, 5	39	Class III	River Rd.	Westside Rd.	1.73	\$ 5,000	\$ 9,000	Signs and striping only.
Doran Beach Rd.	Russian River / Coast	5	44	Class II, Shoulders	State Hwy. 1	Jetty Campground	2.22	\$ 750,000	\$1,669,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Bodega Bay Trail segment F.
Kenwood / Santa Rosa Trail	Santa Rosa	1	92	Class I	Warm Springs Rd.	Annadel State Park	2.08	\$ 400,000	\$ 832,000	Provides connection south of Kenwood to Annadel State Park.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Laguna de Santa Rosa Trail	Santa Rosa	5	91A	Class I	Stony Point Rd.	S.R. Wastewater Plant	1.92	\$ 400,000	\$ 767,000	Segment P15 of the Laguna de Santa Rosa Trail along SCWA easements.
Laguna de Santa Rosa Trail	Santa Rosa	5	91B	Class I	S.R. Wastewater Plant	Todd Rd.	1.39	\$ 400,000	\$ 554,000	Segment P20 of the Laguna de Santa Rosa Trail along SCWA easements.
Llano Rd.	Santa Rosa	5	30	Class II	State Hwy. 12	State Hwy. 116	4.40	\$ 25,000	\$ 110,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Moraga Drive	Santa Rosa	3	213	Class III	Aston Avenue	Kawana Elementary School	0.36	\$ 5,000	\$ 2,000	Signs and striping only.
North Dutton Ave.	Santa Rosa	5	116	Class II	Santa Rosa City Limits	Hearn Ave.	0.78	\$ 25,000	\$ 20,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Piner Rd. / Olivet Rd.	Santa Rosa	4	29	Class II, Shoulders	Fulton Rd.	River Rd.	3.76	\$ 750,000	\$2,819,000	Roadway must be widened and additional right-of-way acquired.
Green Valley / Vine Hill Rd.	Sebastopol	5	47A	Class II	Atascadero Creek	Ross Rd.	0.14	\$ 25,000	\$ 3,500	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Green Valley / Vine Hill Rd.	Sebastopol	5	47B	Class II, Shoulders	Ross Rd.	Guerneville Rd.	0.89	\$ 750,000	\$ 668,000	Roadway must be widened and additional right-of-way acquired.
Lynch Rd.	Sebastopol	5	140	Class III	Sebastopol City Limits	Beattie Lane	0.43	\$ 5,000	\$ 2,000	Signs and striping only.
Valley Ford – Freestone Rd.	Sebastopol	2, 5	136	Class II	State Hwy. 1	Bodega Hwy.	2.59	\$ 25,000	\$ 65,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.

Priority 2 Pro	njecis (ilieur	Super-	Dunings	Dillerment					Coot	
Route Segments	Project Area	visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Salmon Creek Trail	Sebastopol and Coast	5	207	Class I	First St. (Occidental)	Town of Bodega	3.78	\$ 400,000	\$1,514,000	Class I along portions of North Pacific Coast Railroad right-of- way. Connects Occidental to Town of Bodega.
Petaluma / Sebastopol Trail	Sebastopol and Petaluma	2, 5	201	Class I	Petaluma City Limits	Sebastopol City Limits	11.19	\$ 400,000	\$4,478,000	Follows abandoned Petaluma and Santa Rosa Railroad right of way south of Hwy 116 and east of hwy 101.
Laguna de Santa Rosa Trail Extension	Sebastopol and Russian River	5	184	Class I	Santa Rosa Creek Trail	Riverfront Park (Eastside Rd.)	5.61	\$ 400,000	\$2,243,000	Connects end of Santa Rosa Creek Trail to Russian River.
State Hwy. 121	Sonoma Valley	1	101A	Class II	Napa Rd.	Napa Co. Line	0.94	\$ 25,000	\$ 24,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Bay Trail. Regional Network.
5 <sup>th</sup> St. West	Sonoma Valley	1	156	Class II	Sonoma City Limits	Leveroni Rd.	0.36	\$ 25,000	\$ 9,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
8 <sup>th</sup> St. East	Sonoma Valley	1	154	Class II, Shoulders	East Napa St.	State Hwy. 121	3.09	\$ 750,000	\$2,316,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
Bennett Valley Rd.	Sonoma Valley	1	66B	Class III	Grange Rd.	Warm Springs Rd.	5.42	\$ 5,000	\$ 27,000	Signs and striping only.
Burndale Rd.	Sonoma Valley	1	67	Class III	Napa Rd.	Dale Ave.	2.81	\$ 5,000	\$ 14,000	Signs and striping only. Portion of Bay Trail.
Dale Ave.	Sonoma Valley	1	152	Class III	Burndale Rd.	Ramal Rd.	0.49	\$ 5,000	\$ 2,000	Signs and striping only. Bay Trail Segment VI.
Denmark St.	Sonoma Valley	1	65	Class II	Fifth St.	East Napa Rd.	1.72	\$ 25,000	\$ 43,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Dunbar Rd.	Sonoma Valley	1	160	Class III	Arnold Dr.	State Hwy. 12	1.64	\$ 5,000	\$ 8,000	Signs and striping only.
East Napa St.	Sonoma Valley	1	153	Class III	Sonoma limits	8 <sup>th</sup> St. East	0.21	\$ 5,000	\$ 1,000	Signs and striping only.
MacArthur St. East	Sonoma Valley	1	157	Class II, Shoulders	Sonoma City Limits	8 <sup>th</sup> St. East	0.33	\$ 750,000	\$ 245,000	Roadway must be widened and additional right-of-way acquired.
Madrone Rd.	Sonoma Valley	1	149	Class II	State Hwy. 12	Arnold Dr.	0.88	\$ 25,000	\$ 22,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
State Hwy. 121	Sonoma Valley	1	101C	Class II	State Hwy. 37	Bisso Rd.	3.24	\$ 25,000	\$ 81,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
Faught Rd.	Windsor	4	18	Class II, Shoulders	Old Redwood Hwy.	Pleasant Ave.	2.55	\$ 750,000	\$1,915,000	Roadway must be widened and additional right-of-way acquired.
Mark West Station Rd.	Windsor	4	110	Class III	Trenton – Healdsburg Rd.	Slusser Rd. – Windsor Rd.	2.22	\$ 5,000	\$ 11,000	Signs and striping only.
Pleasant Ave.	Windsor	4	16	Class II, Shoulders	Windsor Town Limits	Chalk Hill/Faught Rd.	0.88	\$ 750,000	\$ 658,000	Roadway must be widened and additional right-of-way acquired.
Slusser Rd. / Windsor Rd.*	Windsor	4	111	Class III	River Rd.	Windsor Town Limits	3.40	\$ 5,000	\$ 17,000	Signs and striping only.
Trenton Rd. / Healdsburg Rd.	Windsor	4	17	Class II, Shoulders	River Rd.	Eastside Rd.	1.32	\$ 750,000	\$ 989,000	Roadway must be widened and additional right-of-way acquired.

## 2010 Sonoma County Bicycle and Pedestrian Plan

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Windsor River Rd.	Windsor	4	109	Class II	Eastside Rd.	Windsor Town Limits	0.59	\$ 25,000	\$ 15,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Cloverdale River Trail	Cloverdale	4	205	Class I	Cloverdale City Limits	Theresa Dr.	3.43	\$ 400,000	\$1,372,000	Class I adjacent to Russian River. Connects to SMART Class I bikeway.
Foothill Blvd. Extension	Cloverdale	4	105	Class II	Kelly Rd.	Sandholm Rd.	0.29	\$ 25,000	\$ 7,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Foothill Blvd. Extension	Cloverdale	4	105	Class II	Cloverdale City Limits	Cloverdale City Limits	0.37	\$ 25,000	\$ 9,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Geysers Rd.	Cloverdale	4	9	Class II, Shoulders	River Rd.	Mendo. Co. Line	2.59	\$ 750,000	\$1,945,000	Roadway must be widened and additional right-of-way acquired.
River Rd.	Cloverdale	4	10	Class II, Shoulders	Crocker Rd.	Geysers Rd.	1.00	\$ 750,000	\$ 748,000	Roadway must be widened and additional right-of-way acquired.
Fort Ross Rd.	Coast	5	123	Class III	State Hwy. 1	Cazadero Hwy.	10.59	\$ 5,000	\$ 53,000	Signs and striping only.
Kruse Ranch Rd.	Coast	5	126	Class III	Seaview Rd.	State Hwy. 1	3.65	\$ 5,000	\$ 18,000	Signs and striping only.
Meyers Grade Rd.	Coast	5	124	Class III	State Hwy. 1	Fort Ross Rd.	4.92	\$ 5,000	\$ 25,000	Signs and striping only.
Saddle Draw Trail	Healdsburg	4	186	Class I	Passalaqua Rd.	Healdsburg City Limits	0.15	\$ 400,000	\$ 60,000	Connection through proposed City of Healdsburg park facility.
Bodega Ave.	Petaluma	2	74A	Class II	Petaluma City Limits	King Rd.	3.59	\$ 25,000	\$ 90,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Bodega Ave.	Petaluma	2	74C	Class II	Middle Two Rock Rd.	Valley Ford Rd.	1.69	\$ 25,000	\$ 42,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Bodega Ave.	Petaluma	2	74B	Class II, Shoulders	King Rd.	Middle Two Rock Rd.	2.08	\$ 750,000	\$1,557,000	Roadway must be widened and additional right-of-way acquired.
D St.	Petaluma	2	82	Class II	Petaluma City Limits	Marin Co. Line	3.11	\$ 25,000	\$ 78,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Lakeville Hwy.	Petaluma	2	81	Class II	State Hwy. 116	State Hwy. 37	6.98	\$ 25,000	\$ 174,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Meacham Rd.	Petaluma	2	176	Class II	Pepper Rd.	Stony Point Rd.	1.90	\$ 25,000	\$ 47,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Petaluma River Trail	Petaluma	2	199	Class I	Petaluma City Limits	Petaluma City Limits	0.36	\$ 400,000	\$ 144,000	Connection between central Petaluma and SMART Class I.
Purrington Rd.	Petaluma	2	180	Class III	"I" Street	Mountain View Ave.	0.41	\$ 5,000	\$ 2,000	Signs and striping only.
Reclamation Rd.	Petaluma	1, 2	181	Class III	State Hwy. 37	SMART Right-of-Way	0.47	\$ 5,000	\$ 2,000	Signs and striping only. On street connection between Bay Trail segments.
Bodway Extension	Rohnert Park	4	200	Class II	Rohnert Park City Limits	Railroad Ave.	0.81	\$ 25,000	\$ 20,000	Class II Bikeway included as part of new road construction.
Crane Creek Trail	Rohnert Park/Cotati	3	192	Class I	Snyder Lane	Petaluma Hill Rd.	1.06	\$ 400,000	\$ 423,000	Connection along SCWA flood control channel between Rohnert Park and Petaluma Hill Road.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Five Creek Trail	Rohnert Park/Cotati	3	193	Class I	Snyder Lane	Petaluma Hill Rd.	1.05	\$ 400,000	\$ 419,000	Connects Rohnert Park and Petaluma Hill Road along SCWA flood control channel.
Grange Rd.	Rohnert Park/Cotati	1	148	Class II, Shoulders, Class III	Bennett Valley Rd.	Alta Monte Dr.	2.10	\$ 380,000	\$ 798,000	Class II in climbing lanes, Class III in descending lanes. Roadway must be widened and additional right-of-way acquired.
Hunter Creek Trail Extension	Rohnert Park/Cotati	3	97	Class I	Hunter Creek	Snyder Lane	0.10	\$ 400,000	\$ 41,000	Connection between Snyder Land and Hunter Creek Trail
University District Trail	Rohnert Park/Cotati	3	194	Class I	Keiser Ave.	Moura Lane	0.76	\$ 400,000	\$ 302,000	Connection between Rohnert Park "G" section and Sonoma State University.
Crane Canyon	Rohnert Park/Cotati Area	1, 3	56	Class III	Alta Monte Dr.	Petaluma Hill Rd.	1.53	\$ 5,000	\$ 8,000	Signs and striping only.
Dowdell Street	Rohnert Park/Cotati Area	2	143	Class II, Shoulders	Wilfred Ave.	Millbrae Ave.	0.72	\$ 750,000	\$ 540,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Roberts Rd. / Pressley Rd.	Rohnert Park/Cotati Area	1	55	Class III	Petaluma Hill Rd.	Sonoma Mtn. Rd.	4.24	\$ 5,000	\$ 21,000	Signs and striping only.
Rohnert Park Expressway	Rohnert Park/Cotati Area	2	58	Class II	Rohnert Park City Limits	Stony Point Rd.	0.58	\$ 25,000	\$ 15,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Snyder Lane	Rohnert Park/Cotati Area	3	59	Class II	Rohnert Park City Limits	Petaluma Hill Rd.	0.68	\$ 25,000	\$ 17,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Valley House Dr.	Rohnert Park/Cotati Area	3	146	Class II	Rohnert Park City Limits	Petaluma Hill Rd.	0.50	\$ 25,000	\$ 13,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Wilfred Ave.	Rohnert Park/Cotati Area	2	144	Class II, Shoulders	Rohnert Park City Limits	Stony Point Rd.	1.43	\$ 750,000	\$1,074,000	Roadway must be widened and additional right-of-way acquired.
Bohemian Highway / Main Street	Russian River	5	41A	Class III	State Hwy. 116	Morelli Lane	5.23	\$ 5,000	\$ 26,000	Signs and striping only. Regional Network.
Bohemian Highway / Main Street	Russian River	5	41B	Class III	OccCamp Meeker Rd.	Bodega Hwy.	4.06	\$ 5,000	\$ 20,000	Signs and striping only.
Cazadero Hwy. / Austin Creek Rd.*	Russian River	5	121	Class III	State Hwy. 116	Fort Ross Rd.	6.31	\$ 5,000	\$ 32,000	Signs and striping only.
Monte Rio / Willow Creek Trail	Russian River	5	209	Class I	Monte Rio Bridge	Sonoma Coast State Park	7.51	\$ 400,000	\$3,004,000	Provides access to Russian River between Monte Rio and Coast. Portions of trail flood, summertime use only.
Moscow Rd.	Russian River	5	40	Class III	Bohemian Hwy.	Casini Ranch	3.49	\$ 5,000	\$ 17,000	Signs and striping only.
Occidental Rd.	Russian River	5	42	Class III	Green Hill Rd.	Atascadero Creek	1.70	\$ 5,000	\$ 9,000	Signs and striping only.
Seaview Rd.	Russian River / Coast	5	125	Class III	Fort Ross Rd.	Kruse Ranch Rd.	6.65	\$ 5,000	\$ 33,000	Signs and striping only.
Barnes Rd.	Santa Rosa	4	119	Class III	Santa Rosa City Limits	River Rd.	0.88	\$ 5,000	\$ 4.000	Signs and striping only.
Calistoga Rd.	Santa Rosa	1	117	Class III	Santa Rosa City Limits	Petrified Forest Rd.	5.53	\$ 5,000	\$ 28,000	Signs and striping only.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Frei Rd.	Santa Rosa	5	32	Class II, Shoulders	State Hwy. 116	Guerneville Rd.	1.41	\$ 750,000	\$1,057,000	Roadway must be widened and additional right-of-way acquired.
Hansen Dr	Santa Rosa	1	214	Class III	Middle Rincon Rd.	Santa Rosa City Limits	0.2	\$ 5,000	\$ 1,000	Signs and striping only.
Irwin Lane	Santa Rosa	5	114	Class III	State Hwy. 12	Occidental Rd.	0.79	\$ 5,000	\$ 4,000	Signs and striping only.
Laguna Rd. / Old Trenton Rd.	Santa Rosa	5	32A	Class II	Guerneville Rd.	Vine Hill Rd.	1.31	\$ 25,000	\$ 33,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Laguna Rd. / Old Trenton Rd.	Santa Rosa	5	32B	Class II, Shoulders	Vine Hill Rd.	River Rd.	1.39	\$ 750,000	\$1,041,000	Roadway must be widened and additional right-of-way acquired.
Mark West Springs / Porter Creek Rd.	Santa Rosa	1, 3, 4	33	Class II, Shoulders	State Hwy. 101	Petrified Forest Rd.	9.72	\$ 750,000	\$7,288,000	Roadway must be widened and additional right-of-way acquired.
Peterson Creek Trail	Santa Rosa	4, 5	95	Class I	Santa Rosa Creek Trail	Santa Rosa City Limits	1.41	\$ 400,000	\$ 564,000	Connection between Fulton Road and Santa Rosa Creek Trail along SCWA flood control channel.
Petrified Forest Rd.	Santa Rosa	4	33	Class II, Shoulders	Porter Creek Rd.	Napa Co. Line	2.37	\$ 750,000	\$1,774,000	Roadway must be widened and additional right-of-way acquired.
Santa Rosa Ave.	Santa Rosa	3	35	Class II	Roberts Lake Rd.	Santa Rosa City Limits	1.98	\$ 25,000	\$ 49,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements. Regional Network.
St. Helena Rd.	Santa Rosa	1	118	Class III	Calistoga Rd.	Napa Co. Line	6.47	\$ 5,000	\$ 32,000	Signs and striping only.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Todd Creek Trail	Santa Rosa	3	212	Class I	Hunter Creek Trail	Bellevue Ave. Extension	1.53	\$ 400,000	\$612,000	North / south Class I alternative to Santa Rosa Avenue.
Wallace Rd. / Reibli Rd.	Santa Rosa	3	36	Class III	Santa Rosa City Limits	Mark West Springs Rd.	3.80	\$ 5,000	\$ 19,000	Signs and striping only.
West Ave.	Santa Rosa	5	215	Class 2	Santa Rosa City Limits	Hearn Ave.	0.51	\$ 25,000	\$ 13,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Willowside Rd.	Santa Rosa	4, 5	34	Class II, Shoulders	Hall Rd.	Piner Rd.	2.01	\$ 750,000	\$1,510,000	Roadway must be widened and additional right-of-way acquired.
Bloomfield Rd.	Sebastopol	5	49A	Class II	Lone Pine Rd.	State Hwy. 116	0.94	\$ 25,000	\$ 24,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Bloomfield Rd.	Sebastopol	2, 5	49B	Class II, Shoulders	Pleasant Hill Rd.	Lone Pine Rd.	0.85	\$ 750,000	\$ 637,000	Roadway must be widened and additional right-of-way acquired.
Bodega Hwy.	Sebastopol	5	45	Class II	Jonive Rd.	Bohemian Hwy.	0.69	\$ 25,000	\$ 17,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Danmar Drive	Sebastopol	5	139	Class III	Sebastopol City Limits	Norlee St.	0.03	\$ N/A	\$ 1,000	Signs and striping only. Joint project with Sebastopol to upgrade segment of Danmar Dr. in unincorporated area.
Graton Rd.	Sebastopol	5	43C	Class II, Shoulders	Bohemian Hwy.	Acreage Lane	0.59	\$ 750,000	\$ 446,000	Roadway must be widened and additional right-of-way acquired. Regional Network.
Graton Rd.	Sebastopol	5	43B	Class III	Acreage Lane	Dyer Ave.	4.43	\$ 5,000	\$ 22,000	Signs and striping only. Regional Network.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Green Hill Rd.	Sebastopol	5	42	Class III	Graton Rd.	Occidental Rd.	0.89	\$ 5,000	\$ 4,500	Signs and striping only.
Lone Pine Rd.	Sebastopol	5	50A	Class II	Blucher Creek	Bloomfield Rd.	1.26	\$ 25,000	\$ 32,000	Adequate right-of-way for Class II. Signs, striping, brush removal, and minor improvements.
Lone Pine Rd.	Sebastopol	2, 5	50B	Class II, Shoulders	State Hwy. 116	Blucher Creek	0.30	\$ 750,000	\$ 223,000	Roadway must be widened and additional right-of-way acquired.
Laguna de Santa Rosa Trail	Sebastopol and Rohnert Park/Cotati	5	185	Class I	Joe Rodota Trail	S.R. Wastewater Plant	4.17	\$ 400,000	\$1,669,000	Alternative alignment to Laguna de Santa Rosa Trail Projects 91A and 91B.
7th St. East	Sonoma Valley	1	155	Class III	Lovall Valley Rd.	Denmark St.	0.99	\$ 5,000	\$ 5,000	Signs and striping only.
Lovall Valley Rd.	Sonoma Valley	1	158	Class III	Sonoma City Limits	7th St. East	0.20	\$ 5,000	\$ 1,000	Signs and striping only.
Ramal Rd.	Sonoma Valley	1	70	Class III	State Hwy. 121	Napa Co. Line	4.39	\$ 5,000	\$ 22,000	Signs and striping only. Regional Network.
Riverside Dr.	Sonoma Valley	1	151	Class III	Petaluma Ave.	Verano Ave.	0.79	\$ 5,000	\$ 4,000	Signs and striping only.
Robinson Rd.	Sonoma Valley	1	159	Class III	Sonoma City Limits	Verano Ave.	0.10	\$ N/A	\$ 1,000	Signs and striping only.
Skaggs Island Rd.	Sonoma Valley	1	71	Class III	Ramal Rd.	Napa Co. Line	5.29	\$ 5,000	\$ 26,000	Signs and striping only.

Route Segments	Project Area	Super- visorial District	Project Number	Bikeway Class	Begin Point	End Point	Miles	Cost / Mile	Cost Estimate	Notes
Sonoma Mtn. Rd.	Sonoma Valley	1	69	Class III	Bennett Valley Rd.	Warm Springs Rd.	7.64	\$ 5,000	\$ 38,000	Signs and striping only.
Trinity Rd.	Sonoma Valley	1	150	Class III	State Hwy. 12	Napa Co. Line	4.58	\$ 5,000	\$ 23,000	Signs and striping only.
Warm Springs Rd.	Sonoma Valley	1	68B	Class II, Shoulders	State Hwy. 12	Bennett Valley Rd.	2.73	\$ 750,000	\$2,044,598	Roadway must be widened and additional right-of-way acquired.
Brickway Extension	Windsor	2	201	Class II	Brickway Ave.	River Rd.	0.87	\$ 25,000	\$ 22,000	Class II Bikeway included as part of new road construction.
Chalk Hill Rd.	Windsor	4	18	Class III	Pleasant Ave.	State Hwy. 128	8.18	\$ 5,000	\$ 41,000	Signs and striping only.
East Shiloh Rd.	Windsor	4	19	Class II, Shoulders	Windsor Town Limits	Faught Rd.	0.81	\$ 750,000	\$ 605,000	Roadway must be widened and additional right-of-way acquired.
Gumview Trail	Windsor	4	188	Class I	Windsor Town Limits	Windsor River Rd.	0.63	\$ 400,000	\$ 253,000	Town of Windsor project to be developed by Sonoma County Regional Park Department
Jaguar Ave.	Windsor	4	112	Class III	Windsor River Rd.	Starr Rd.	0.76	\$ 5,000	\$ 4,000	Signs and striping only.
Jensen Trail	Windsor	4	187A	Class I	Vinecrest Rd.	Windsor Town Limits	0.26	\$ 400,000	\$ 103,000	Provides Jensen Lane extension through unincorporated area.
Jensen Trail	Windsor	4	187B	Class I	Windsor Town Limits	Jensen Lane	0.26	\$ 400,000	\$ 103,000	Provides Jensen Lane extension through unincorporated area.